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1.1: How to Count Numbers in Chinese

ZF/0 ling 0

- y1 1

R er 2

= san 3

g si 4

A wil 5

AY lit 6

+ qi 7

AN ba 8

il jiti 9

+ shi 10

[5] bai Hundred

+ gian Thousand
il wan 10 thousand
¢ yi A hundred million

Chinese number is very logical and easy to master. You just need to learn
how to count and read the numbers above and then you can master the whole
counting system.

0-10 in Chinese
2’37 T :7 E’ E]’ ﬂ’ ﬁ’ /[:’ /\’ j_[_" +

(And — yi is often read as yao especially the single digit.)

11-99 in Chinese
C O F

60, 751, liu shi
80, /\+t, bashi

C >+ C)
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38, =1\, san shiba
72, B+, qishier

Hundreds in Chinese
C ) H

100, — 9, yT bai
300, —H, san bai

C Y| C )
120, — B (1), yT bai ér (shi)
560, i1 (1), wiibdi liu (shi)

C | C )+ C )
345, = VY7L, sanbai sishiwti
789, L1 /\1JL, g7 bai bashijiu

C )H )
502, HHZE ., wlbai ling ér
704, L HZEMY, qibai ling si

4

i

Thousands in Chinese
¢ )T
5000, HF, wlgian

C >+ CHOHA
4300, JUT=H, sigian sanbai

C OFC HOHE C ) (h
3250, =T =HH.(1), sanqgian érbai wu (shi)
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COTCHOECH>+ )
1234, —TF A =1, vyiqgian érbai sanshisi

C )>TFC )

6003, 75T =, liugian ling san

C YT C H)EEFEC)
7302, LtT=HZE_, qigian sanbailing ér

C OFZC O+
9086, JLTFZ/\-75, jitigian ling bashili

1.2: How to Express Time in Chinese

In Chinese, time is expressed in the order of “hour-minute”. When the minute
is over ten, then “43” can be omitted.

Integral point
3:00 =5
5:00 Fifi

Hour — minutes

4:05 M0 Ff (40
7:10 BT

9:35 JLR=1TH (4P

Quarter (1 quarter =15 mins)
1:15

— R )

—H—Zl
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3:15
=R O
=R

Half hour Chalf hour = 30 mins)
2:30

PR =1 ()

PR

Another way to express time (% cha)
12:50

12 gt ()

Z+4r— 4 (10 to 1 o'clock)

6:45
AR (9

#Z+H5r-E55 (15 mins to 7 o°clock)

#Z—Z|t i (aquarter to 7 o'clock)

1.3: How to Express Dates in Chinese

The 12 months in Chinese

Talking about the 12 months of the year, Chinese is much easier, we just use
the numbers 1 to 12 plus the word “yué” to say them, “yué” means “month”, so
January (ytyué), February (éryué), March (sanyue), April (siyue), May
(wayué), June (linyue), July (gryué), August (bayue), September (jiliyue),
October (shiyue), November (shiytyué), December (shi’eryue)

4
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The dates in Chinese

The names of the dates are made by combining the numbers 1 to 31 with
“hao” (spoken form) or “ri” (written form). For example:

(yTyué) y1 hao/ri January 1 (wuyué) sanshiyt hao/ri May 31

(shiytyué) érshi hao/ri November 20 (shi’eryué) shiba
hao/ri December 18

1.4: The summary of “B9(de)” in Chinese

None

1.5: The Basic Sentence Structure in Chinese

The main characteristic of Chinese sentence is that it lacks of morphological
changes in person, tense, gender, number, and case in the strict sense. The
sentence order is very important to convey different grammatical meanings.

The sentences with an adjective predicate:

Adjective in Chinese can function directly as predicates. This kind of sentence
can be modified by adverbs such as “/B™“t"“#{” and etc. And the negation
form is to put “A\” before adjective that functions as the predicate.

Subject + Predicate

I, (WO mang.) I'm busy.

AR, (WO hén mang.) I'm very busy.

KA. (WO bu mang.) I'm not busy.

BATEART . (WOmen dou hén mang.) We are all very busy.

The sentences with a verbal predicate:

The main part of the predicate in a sentence with a verbal predicate is a verb.
The object usually follows the verb. The negative form is formed by putting
“AN or “¥%¢” before the verb.

Subject + (Adv. ) + Verb + (Object)
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(S-V-0)
e.g.
KZIR. (WS aini) |love you.

BATEREXNCNE .  (WOmen ddu xihuan hanyut.) We all like Chinese
language.

PREEMR)L? (NI zai nar?) Where are you?

RAHIE, (WO bl zhidao.) | don’t know.

1.6: General Questions I(ma) and Hg(ne)

g (ma) and Wg (ne) are most commonly used general question (also
called yes or no question) particles in Chinese.

1

A declarative sentence can be changed into a yes-no question by adding the
question particle “'%” at the end of it.

e.g.
RIF. (Nihdo.) a friFig?  (Nih&o ma?)

frfts. (NTmang.) a RIS ? (N mang ma?)

fliig/K ., (Tahéshul.) a fhiE/KE? (Ta hé shui ma?)

e

g is mostly used to turn statements into queries (among other things). It's
used to ask the situation mentioned previously, which indicates “How
about...... ?” "What about......7".

e.g.
BIRLF, fRUE? (WO hén hdo, nine?)

I'm very good, and you?

PRIFFAEIX )L, FRIIME?  (NV de shd zai zhér, wo de ne?)

Your books are here, what about mine?
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1.7: The Summary of Wh-Questions in Chinese

1. The particles“fT4", “E-4", “BH”, “YE” and“Nf4" are used to ask “what”,

‘how”, “where”, “Who” and “why” in Chinese. If you want to ask something
specific, these particles are really helpful, such as:

Rz A4 2 (NT xidng chT shén me?) What do you want to eat?
PRI 4 4577 (NI jiao shén me ming zi?) What is your name?

i EE4E? (Qu gu gong z&n me zdu?) How can | get to the Imperial
Place?

XIEBE A7 (Zhé dao ti z&n me zud?) How can | solve this question?

R L BE SE SV iE 17 1?2 (N& I néng mé&i dao han yu ci di&n?)
Where can | buy a Chinese dictionary?

PREFIEE 2 (NV yao qu na [i?) Where would you want to go?
2 #E? (Ta shishui?) Who is he?
&£ E A ? (Shui shi méi gué rén?) Who is an American?

foNAH 43K ? (Ta wei shén me méi lai?) Why doesn’t he come?

2. When you want to ask how much or how many about something or
somebody in Chinese, you can use “J1”, “£”, such as:

XA IR Z /8% ? (Zhé jian yT fu dud sh&o gian?) How much are these
clothes?

X% 1% KT ? (Zhé hai zi dud da le?) How old is this child?
WAL LA T 7 (Xian zai ji dian le?) What is the time now?

PREEJLANSE R ?( NI yao ji gé ping gud) How many apples do you want?

1.8: The summary of “&(shi)-AJ(de)” Sentence in Chinese

T []” is used in a dialogue to emphasize the time, place or way of
something which has happened. Sometimes, “/&” can be omitted. The
emphasizing part can be time/place/method and etc.

Time
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FOEEWERFIL M. (WO shi zudtian dao Béijing de.)

Place

TOEE)M BRI . (WS shi cong Shanghai lai de.)

Method
TR KACRIE R . (WO shi zud féijT lai Béijing de)

The negation form of “%...... #)” Sentence:
Time

BARMERFILFE M. (WS bushi zudtian dao Béijing de.)

Place
TAEM R . (WO bushi cong Shanghai lai de.)

Method
A ZAL KN RIE A . (WO bushi zud féijT 1ai Béijing de)

1.9: The difference between “~(bul) and & (méi)

There are two ways to say ‘no’ in Chinese: %A (méiyou) and A~ (bu). The
pronunciation of % (méiyou) is does not change, but in everyday speech
the & (you) is often dropped. On the other hand, 4~ (bu) does change to bu
when followed by a forth-tone character. Otherwise the rules for when each is
used are actually fairly simple.

First, %A (méiyou) can never be used with 7& (shi). This rule is completely
reliable, so simply memorize it and live by it.

A RARE—H—5. (Jintidn bashi yT yué yT hao. Today is not January 1.)

RIFIRA LT . (WS meéimei i bushi shi sui. My younger sister is not 10
years old.)
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Next, 4 (bu) is used for the present and future time, as well as for habitual
activities. Often the adverbs of time, including words like today, tomorrow,
next week, usually, or regularly, indicate which of these is meant.

MIAEATE .  (Ta xianzai buzai. He's not home now.)
BAMEW . (WO bl héjit. | don’t drink (as a habit, in general). )

while # (méi) is used when talking about the past. As with 4~ (bu), adverbs
of time, including words like yesterday, last month, last year, before, or once
long ago, are used to indicate when in the past something did not happen.
Also, the past here includes the perfect tenses, those forms that used ‘have’
plus the past participle, as in ‘| have never been to Beijing’ or ‘He hasn’t eaten
Dim sum recently’.

WEA . (WO meéiydu qu. | didn’t go; | haven’t gone.)
WERIREA L. (Zubtian wd méiydu shangke. | didn’t go to class yesterday.)

Since single A (you) means “have”. So % (méiydu) also means” not
have”.

KA. (WO méiydu gian. | don’t have money.)
f % A B A] . (Ta méiydu shijian. He doesn’t have time.)
In spoken Mandarin ¥ is short form of %, so & (ydu) is often omitted.

K. (WO méi quguod changchéng. | haven’t been to the Great
wall.)

RIEEE. (WO méi giché. | don’t have a car.)

1.10: The difference between “—(er)” and “F(lidang)” in Chinese

“—m

The biggest different between them is that “_" (ér) is used generally when
counting in numbers (one, two, three,...), or performing mathematical
functions.

However, when you want to say “two of” something, #i(lidng) is used in front
of measure words to express a quantity. This is similar in English to saying “a
pair” of something, but it is used in Chinese to express having “two of” almost
anything, for example:

FiIN i (lidng gé xido shi) two hours;
#F(lidng tidn) two days;


https://www.digmandarin.com/

https://www.digmandarin.com/

N2 lidng gé xing qi) two weeks;
1~ (lidng gé yué) two months.

There is one potentially confusing example. Instead of saying — Fi(ér
dian) to express 2 o'clock, the correct way to express this is actually #
#i(lidang dian) 2 o’clock — you can think of it literally as a quantity of “two points
on the clock.”

Let's see other differences between them in use.

SS

1) — (ér)is used as an ordinal number, such as £ —(di ér) the second,
“F(ér l6u) the second floor, etc.

K — 93

2)When used in math to indicate a numeral, a fraction, or a decimal, “—"is
used instead of “I”.

1/2(&r fén zhi yi) — %y —; 1/3(san fén zhi ér) =432 —

0.2(ling didn ér) £ xi—; 2.4(érdiansi) — Y

3) In the multi-digit numbers, use —, not ¥ for tens place and ones place,
as 22(—=). Before the H (hundred)’s place, either i or — can be used,
as in 200(— A/ H). When used before the “+”(gian ,thousand). “Jj"(wan,
ten thousand) or “/2”(yi, hundred million) places, “#” is much more frequently
used.

E.g. 2000(% T°); 22222(# /3T — H = =); 200000000(#1Z)

4) Before “traditional” units for capacity or weight (JX(chi)/g(mu)/Ft
(shéng)...), both #§ and — can usually be used. For example: — /P ) (er
chi /liang chi);  —w/PE(ér mu /liang ma);  —F+/PF+(ér shéng /liang
shéng).

However, before the “new” units for capacity and weight, typically #, is
used. For instance: MM and P2 H.

Note that P also means 1/20 of a kilogram, so to make this distinction clear,
two “1/20 kilo” is represented as - (ér liang ), not P (lidng liang).

5) When you want to approximate a number, you can use “/”and either
“—’[“="together in succession. For examples

—R(yI lidng tian) One or two days.
XAMAE AT T A=K T . (Zhé ge ci wd men xué le lidng san ci le.)

We've studied this word two or three times.

10
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AN NEAE B = FHe£6.  (M&i gé rén yao hua lidng san bdi kuai gian.) Every
one needs to spend two to three hundred RMB.

6) “M”is also often employed on its own to indicate a generally small number

“—

of quantity, whereas “__" can not be used in this way. For example:
BAR T IXAFA N?(z8n me jiu lai le zhé me lidng gé rén ?)
How have so few people come?

“fFi(lia)” means “P /™", and is more commonly used as a colloquial term in
northern China. Some examples: FA1FEANTH AN, the two of us), LA
ASER, two apples).

Note that 7 (also pronounced ér) is used to represent the number 2 on items
like cheques to prevent forgery.

1.11: = (hui) and 88 (néng)

‘Can’ has two Chinese equivalents: 2 (hui) and 8¢ (néng). The former, &
means ‘to know how to’, and the latter ¢ means ‘be able to'. It all seems
guite simple, but many Chinese learners may still confuse how to use them in
practical situations.

A
=

stress the skills acquired through learning.

e.g.
TP, (WS hui ki ché.)
WEpFk, FAZ. (Ta hui youydng, wé bu hui.)

can be predicate alone.

e.g.
FSd55%, (WS hui yingyt.)

11
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2

stress the possession of the skills

e.g.

HHEE N . (WO néng kanjian.)

indicate permission or prohibition

e.g.

FFEL A g 2 (WS néng qu géngyuan ma?)
\GEE 2N . (BU néng qu gongyuan.)

can not be predicate alone

e.g.
FFESETE, % (WO néng yingyt.)

1.12: Three Special Sentence Structures

None

1.13: The Summary of “ f(le)" in Chinese

1. As a modal particle, “ " is used at the end of a sentence to indicate
something has already happened.

e.g.

22K T . (Ta qu xuéxiao le.)

He went to school.

RANEEMS—4 T . (Women jiéhdn yT nian le.)
We got married for 1 year.

WAL EFHEE 7. (WO hé ta qu kan dianying le.)

12
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He and | went to watch movie.

2. As a dynamic auxiliary, “ 1" is used after verbs to refer to the completion of
an action. It's often followed by quantifiers.

e.g.
ZERE T 10 AP, (Qunian wo kanle 10 bén sha.)
| read 10 books last year.

BLTIRZARM. (WO maile héndud yifu.)

| bought lots of clothes.

®IZ TR, (WO chile wafan.)

| have had lunch.

1.14: Serial Verbs Sentence

Sentences with Serial Verb Phrases consist of two or more Verbs or Verbal
phrases which are predicative of the same Subject. Its basic form is

‘Subject+ Verb1+(Object1)+Verb2+ (Object2)’

And here in HSK 1, the serial verbs construction is like this:
% + (place) + to do something

The “place” part can be omitted. “to do something” is the purpose of the
former.

e.g.

FFEPE2NGE. (WO qu zhonggud xué hanyd.) | go to China to learn
Chinese.

fh 2 iz . (Ta qu fan diadn chifan.) He goes to restaurant to have meal.

A1 20 5 L 4P, (Tamen qu shangdian méai dongxi.) They go to the
shop to buy things.

13
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